1. Inteqer radional, real

‘2. Rotionol, real

3. IrraHonol real

4. Rotonal, reol

5, Noturod, whole, infeger, rotionol, reol

&, 1n+eger, rationol real (because -%— con be rewritten
as —3)

7. Trrotional, real
8. Rotionol, real
& Tothe rﬁghé"

15, To the left

 POSITIVE NUMBERS ore used 5
to describe quantities greater than Ly
-~ zero, and NEGATIVE RUNBERS

"~ are used to describe quo.n*riﬁes

- neguative numbers are used together
~ 1o show quantities that have
. opposite directions or values.

Al positive numbers just look like
 regular numbers (+4 and 4 mean the |
~ same thing). Ml negotive numbers |
~ have o negative signh in front of

. them, like this: ~4.

NEGATIVE

less thon zero. Often, positive and




As we know, all integers con be placed on o number line. T¢
you put all integers on o number line, zero would be of the
exact middle becavse zero is neither positive nor negative.

Positive and negoative numbers have mony uses in our world,
such os: ' '

Irebt favings
{money bhat you owe) (money that you keep)

Below-zero
temperatures

Below sen level

Above-zero
femperatures

Above

e geqa level



On o horizontal number line: Numbers to the left of zero

are negotive, and numbers $o the right of 2ero ore positive.

Numbers get larger as they move fo the right, and smaller
as they move to the le£t We drow
RBREYS on eoch end of a number
line to show thot the numbers keep
going (ol the way to WEINITY
and negative infinity?.

5 4 = 2 -1 0 1 2 3 4 5°

Positive (+) and negative () signs are £ @
colled BPPOSITES s0 +5 and -5 ﬂ
- 1o - - %0
are olso called opposites. They are 11 %
both the same number of spoaces or 00 7 - %0
the same distance from zero on the 80 - |- 20
number line, but on *opposite’ sides. LU T
0 20
0 7 0
0 - |--20
-20 —} - 30
40 - |- -40

EﬁﬂN?LE Devin borrows $Z from his friend Stanley.
Show the amount that Devin owes as an infeger. '

B A
The GFTOSITES OF GPPOSITES PROPERTY says
that the opposite of the opposite 0f o number is the

“number itself!

Whot is the opposite of the opposite of ~1is7

The opposite of 1 is 1b. The opposite of 16 is -1,

. So the opposite of the opposite of -1l is -1l
. (which is the same as itself).



